Http

://www.china-easun.com

EMAL SR & &R {RKIL

LB

n BASHA

* SHEAGRIEEL

m FalEs

& RAE MK, EEETLHEMRDE.
HEMALE, NMXAEEREN. MEMERFAE, MAESIN/NIG.

EMAL — CM 25 x 75 — S — LB EMAL — CcM 25 x
T T T T T
BEERER 1752 Bl E B Rear Lid Pattern Inner S
=AIZEER TH, HAR Blank:single Clevis Type Diameter
e [SRa=£] 512 )97 LB B EEES _MOd?| U:Front Flange Type
RS ET CM:EREE S:HRETR FARTEZR Slim Cylinder  CM:Axial Foot Type

FH: RE#R SDB:E#

| |=—

H EAREH

m

B

SEARARSREH N, EFREEISOCEREFHTERTE (EAREALSITE) o
& TIR LM HEFEF,
SEDEE LT URE-ANKAY, TURMERRASEH LMY T RRENSELNEHNE,

75 — S — LB
T T
troke Mounting Type
. Blank:Basic
Inductive LB:Front and Rear Fixation
Magnetic Ring FA:Front Flange
S:With magnetic ring SDB:Rear Wiggle

lank:Without magnetic ring

ABKITHELE H20mm, 7R A50mm, EHEERABERRR, XALBEES
X, BTRANPEREARBESERRIE, HEBNITHBRSA:
EMAL-20x50-S - LB

#I12/ Inner Diameter (mm) 16 20 25 32 40
FH1ERIR/ Action W 4EFEY Double Acting
T4 R/ Fluid 213 HIESE TS/ The constrirgent after filtered

[ E 2 X /Fixing Type

EA%/Basic LB FA SDB

{& A JE 7155 El/ Range of Working Pressure MPa 0.05~0.9

{RIET E 51/ Proof Press MPa 1.35

{# AR ESEE / Operating Temp T _5-70

{EFEEEE / Piston Speed mm/s 30~800

2 M EI3L/ Cushion [ 7E % 48 4/ Fixing Cushion

#EEBL/ Port Thread M5x0.8 G1/8 G1/4

n |ETE

&L12/ Inner Diameter(mm) FR#E1T#2/ Standard Stroke H A17#2/ Max Stroke | &IF4T7#8/ Permissible Stroke
16 25 50 75 80 100 125 150 160 175 200 250 300 500 800
20 25 50 75 80 100 125 150 160 175 200 250 300 500 800
25 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 800 1200
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 800 1200
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1200 1500

HEHITRES AR AKR



ERERT

EMAL
D16~ 40 A+17 72 /Stroke
B C+17 72 /Stroke L
R F .G G S
H LN 2-0 N M
L I St
- |
o[- T e (S ol
-
Q X
A+#772/Stroke
B C+17%2/Stroke
F G G
. H _ 1N 2-0 N
L [P [
'
o
1 T N —— I o
—/
Q
A+%772 /Stroke
B C+47%% /Stroke L1
F G G
H | _N_L/ . N | M1
0 ‘ | 2-0 ﬁ LU
ol
DxI - — S dl- -4 &
/
Q
#S
12 Code A
neiibIE B © E F @ H I D K J
e B2 E B B FE
Type single Clevis | Axial Foot |Front Flage
16 114 114 98 38 60 22 16 10 16 6 M16x 1.5 M6 x 1 5
20 131 122 110 40 70 28 12 16 20 7 M22 x 1.5 M8 x 1.25 6
25 135 128 114 44 70 30 14 16 22 7 M22 x 1.5 M10x 1.25 6
32 139 139 114 44 70 30 14 16 22 8 M24 x 2 M10x 1.25 6
40 165 152 138 46 92 32 14 22 24 9 M30 x 2 Mi2x 1.25 7
#s
HE Code L L1 o N M M1 P R S T u v Q X
Inner Dia.
16 16 16 M5 x 0.8 5 14 14 21 12 22 10 6 6 5 9
20 21 12 G1/8 8 19 10 29 16 29 12 8 8 6 12
25 21 14 G1/8 8 19 12 34 16 29 17 8 10 8 12
32 25 25 G1/8 8 23 12 39 16 32 17 10 12 10 15
40 27 14 G1/4 11 25 12 47 20 41 19 12 16 14 15




N EMALL#aME

1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
3

F S 1 2 3 4 5 6 7

& W EEF EENIEE By R £ B EIE3 3= CE EIE B /R HORE

R 5 RB NBR KRB S&aWHE HEE NBR

F 5 8 9 10 11 12 13 14 15 16

& ] & E i) HEFHE EEORE B IR wE X RIR kst £3) I=F

R B HEE NBR NBR B HEE SEHE 5 HEE
No. 1 2 3 4 5 6 7
Description Piston Rod Piston Rod Nut Dustproof Seal Ring Front Cover Nut Guide Sleeve Front Cover Front & Rear Cover O-ring
Material Medium Carbon Steel Mild Steel NBR Mild Steel Composite Material Aluminum Alloy NBR
No. 8 9 10 11 12 13 14 15 16
Description Buffer Ring Cylinder Combined Seal Ring| Piston Rod O-ring | Magnetic Ring Piston Support Ring Allen Screw Rear Cover
Material Plastic Aluminum Alloy NBR NBR Plastic Aluminum Alloy | Composite Material | Medium Carbon Steel | - Aluminum Alloy




